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1 point for answer; 2 points for
explanation

. Substituting 1 for x makes the

equation true

x=0:
4(0)+9=13
0+9=13
9213

x=1
4(1)+9=13
4+9=13
13=13

x=2
4(2)+9=13

8+9=13
1713

300=22.5(10)+75

300=300

Rubric

a. 2 points

b. 1 point for answer; 1 point for
explanation

11.a. 1,2, and 3 are solutions of
1122x+5.

1M22()+5  1122(2)+5

1122+5 1124+5
127 1129

11223)+5 1122(4)+5

1126+5 1128+5
1211 11213
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b. 1and 2 are solutions of 11 >2x+5
M>20+5  11>2(2)+5

11>2+5 11>4+5
M>7 11>9

1>23)+5  11>2(4)+5

1>6+5  11>8+5
1M1 11513

c. The answer from part a includes 3 as
a solution, while the answer from part
b does not.

Rubric

a. 1 point for solutions; 1 point for
reasonable work

b. 1 point for solutions; 1 point for
reasonable work

c. 1 point

Jasmine is incorrect about 3 being a

solution of the inequality 16 2 11x — 6.

The inequality is not true when

substituting 3 for x.

16211(3)- 6
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Jasmine is correct that 2 is a solution of

the inequality 16 > 11x — 6. The inequality
is true when substituting 2 for x

16211(2)-6

16222-6

16216

Rubric

1 point for saying 3 is not a solution;

1 point for saying 2 is a solution; 2 points
for explanation with work
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6.EE.9 Answers

1.8
2.0

3B

4.B,C,E

5.c=6b +2.5; the dependent variable is
the total cost of the books ¢, and the
independent variable is the number of
books bought b. The total cost of the
books increases by $6.00 for each
book bought

Rubric

1 point for equation;

2 points for explanation

The cost increases by $0.50 for every
pencil bought; ¢ = 0.5p.

(Also correct: The number of pencils
bought increases by 2 for every

$1.00 spent; p = 2c.)

Rubric

1 point for relationship;

1 point for equation

=3

7.a. The independent variable is t, and the

dependent variable is w. The number
of words typed increases by 52 over
every minute spent typing

1234567889 ¢t

c ow=52t
Rubric

a. 1 point for each variable
b. 2 points

c. 2 points
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SELECTED RESPONSE 3. The table below shows the balance of a
Select the correct answer. savings account after { weeks, where

1. The graph below shows the relationship
between the number of miles a person
walks and the number of hours spent
walking. What equation best describes
the relationship between the two
variables?

Distance (miles)

123456789 t
“Time (hours)

@® t=4d
® d=4t
=d

money is being withdrawn at a constant
rate. Peter can find the balance of the
account based on how many weeks
have passed. What are the independent
and dependent variables, and how do

they change?
Time Balance
(weeks). t | (dollars). b
0 850
1 800
2 750
3 700
(A As the independent variable {

increases by 1, the dependent
variable b increases by 50.

(B As the independent variable ¢
increases by 1, the dependent
variable b decreases by 50.

(© As the independent variable b
increases by 1, the dependent
variable t increases by 50.

(D As the independent variable b
increases by 1, the dependent
variable ¢ decreases by 50.

Select all correct answers.
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2. Agardener is growing tomato plants. One
plant starts out 5 cm tall. It grows a
constant 2 cm every week. What
equation represents the height h of the:
plant after t weeks?

R t=5n+2

©n st+2
@ h=2t+5

4. Gloria is an artist. She sets a goal to paint
2 pieces every month. She has already
painted 5 pieces. The number of pieces
Gloria paints depends on the number of
montns she spends painting. Which
statements describe the number of
pieces p Gloria paints over t months if
she meets her goal?

(& pis the independent variable and ¢ is
the dependent variable.

(® tis the independent variable and p is
the dependent variable.

(© pincreases by 2 as  increases by 1

(@ tincreases by 2 as p increases by 1

(B> The equation representing the
situation s p= 2t + 5.
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CONSTRUCTED RESPONSE

5. An online bookstore is having a sale. All
paperback books are $6.00, with a fiat
shipping fee of $2.50. Write an equation
that represents the total cost ¢ based on
buying b books. Identy the independent
and dependent variables and how the

dependent variable changes in relation to

the independent variable.

6. The graph below shows the relationship.
between the number of pencils bought
and the cost. Describe the relationship
between the two variables. Use this
relationship to write an equation relating
the two variables.

7. The table below shows the number of
words w a person types after f minutes.
The number of words typed per minute is
a constant 52

Time Number of
(minutes), ¢ | words, w
0 0
1 52
2 104
3 156

a. The number of words typed is
determined by how many minutes
the person spends typing. What
are the independent and
dependent variables?
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b. Graph the values from the table.

. Write an equation that represents the
situation




image5.png
6.EE.5 Answers

1.8
2.c

3.B

4.B
5.A,C,D
6.x=4

7<5(4)-16

752016
74
4is not a solution of 7 < 5x — 16 because
7is not less than or equal to 4.
Rubric
1 point for answer; 1 point for
reasonable work

- No. When substituting 7 for x, the left side
of the inequality is equal to
9(7) -3 =63 - 3= 60, which is equal to
60 and produces a false statement.
Rubric

~

©

10

Rubric
1 point for answer; 1 point for
reasonable work.

All values from the set of natural numbers

except for 1 make the inequality true.

When substituting 1 for x, the left side of

the inequality is equal to

6+2(1) =6 +2=8, which is not greater

than 8. When substituting 2 for x, the left

side of the inequality is equal to

6+2(2)=6+4=10, which is greater

than 8. Since the left side of the inequality

increases as the value of x increases, the

inequality is true for all natural numbers

greater than 1.

Rubric

1 point for answer; 2 points for

explanation

a. 300=225t+75

b. Yes, Kyle will have enough to buy the
computer if he saves for 10 days
because 10 is a solution of the
equation 300 = 22 5¢ + 75.





